C. S. (MAIN) EXAM, 2009

Serial No. [ 0451| |C-DTN-J-DBA|

COMMERCE AND ACCOUNTANCY
Paper—I

; [Zﬁme Allowed : Three Hours] E/!aximum Marks : 300]

INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium other
than that specified in the Admission Certificate.
Candidates should attempt Question Nos. 1 and
5 which are compulsory, and any three of the
remaining questions selecting at least one
question from each Section.

Assume suitable data if considered necessary
and indicate the same clearly.

All questions carry equal marks.

1T & : IRVl F @~ ®YFaY 3 FYT-97 B Mo g
9T B9 2 |
|




2

SECTION—A

Attempt any THREE of the following in not more than
200 words each :(— (20x3=60)

(a)

Describe the basic information processing model
of an accounting system. 20

(b) Explain the audit procedure for conducting the audit

(c)

(d)

(a)

of a Non-governmental Organization (NGO). 20

“Maximising the value of the company to its
shareholders is consistent with the company
exercising considerable social responsibilities.”
Discuss. 20

Comment on any likely conflict of interest between
the sales manager and the finance manager of a
company, with regard to,the company’s credit
policy. 20

A limited company issued’ a' prospectus
inviting applications for 2,000 equity shares of
Rs. 10 each at a premium of Rs. 2 per share payable
as follows :

On application Rs. 2;
On allotment Rs. 5 (including premium);
On first call Rs. 3;

On second and final call Rs. 2
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@I
Preafifeg & ¥ B @ & It AR, & T30S
200 ¥ T weQl H A8 817 =@IeT :—  (20%x3=60)
(F) AGHITT YUITAT F AEMRS FIFT FHATT ATST HT
guig He | 20
@) g @red (TTES) $ cEnder w1 g
F & fou Sramden FERAY T T 20
(M ‘o Iaalal & g Feeft & qew 1 sfenaHEs
ST F g S HEAT H Wi TGl
F g H P GETT 2177 T 9 T PN
20
@) FN A sur A P FEg A, I F B
ysas MY o0 gaus & €19 Ral & & gafaa
aree fadte 9Xfem fifng 20

(@) uF faRee Su1 A, & 29 9 SRS 9T,
g% & 10 % 2,000 $REt dw & g smag
FEfT w0 @ g, S FETER 3 8, o deleed
EIEURE T 1

IEeT 9T & 2;
FEET UL & 5 (S |igd);
ggd HIT 9T ®. 3;

qadr sy sifew =i 9X w2
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Applications were received for 3,000 shares and
pro-rata allotment was made on the applications
for 2,400 shares. Money overpaid on applications
was employed on account of sum due on allotment.
Shree, to whom 40 shares were allotted, failed to
pay the allotment money and on her subsequent
failure to pay the first call, her shares were
forfeited. Pooja, the holder of 60 shares, failed to
pay the two calls, and her shares were forfeited
after second call.

Of the shares forfeited, 80 shares were re-
issued to Naman credited as fully paid @ Rs. 9
per share, the whole of Shree’s shares being
included,

Pass the necessary journal entries and prepare
the cash book of the company: 30

(b) Describe the disclosure requirements for

(a)

amalgamation including additional disclosure, if

any, for different methods of amalgamation as per
AS-14. 30

IGNOU conducts a special course on computer
applications for a month during summer. For this
purpose, an entrance examination held which is
spread over four days, one examination per day.
Each candidate is charged fee of Rs. 50 for taking
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g 3,000 90 F g gr@ gw sk ImagAY
9T JFTAE FEET 2,400 99 F forg fwar mar
IRl 9T I @ Ul s 9T 2w Oy
% Ram ¥ w13 =, R 40 a9
FT JEcT FAT TAT 91, JETT H F) IS FA
# fawer W@ X IuH geEr gAH HIT H A @7
F H RAwa 817 9T 399 99T 9= HT forw 7w
&1, St 60 B0 F oeEeard @, 97 [ H)
IS FA F awa @, X g@h 71 F 9% IgD
AU H Fed HT foEr @)

Seq T T 9 A ¥, ® 9 iy S &
<X @ Pied & &9 ¥ ghfd 80 99X 77 A g
S HT R 1T 37 9w A 2 @ oaft 9w
InEe

mwﬁqﬁ&ﬁaﬁﬁmsﬁmﬁaﬂ
UHs & AT FIRvg | | 30

(@) #aMaT & fou gses ImEmmsaEt w1, )

()

TUH-14 # JTaR gadaq o Rt [ty 3
foe sfefRea yses JEwmsaEt &1 IR :12 @
a1, avfF i 30

v fior 3 A o W B g FgeT sy
R U A9y urggss &1 g9e S 8139 gaee
& g, o g3 ghenm ft ot 2 S 9 R
a% Iodl 8, Th gdem gfe R @ fRaw ¥ 3o
e 7 37 F g gas I=fea § 5 S0
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up the entrance test. The following data was
gathered for the past two years :—

Statement of Revenue from the Entrance Test
2007-08 2008-09
Rs. Rs.
Gross Revenue collected 1,00,000 1,50,000
Cost :
Valuation 40,000 60,000
Question Booklets 20,000 30,000

Hall Rent @ Rs. 2000

per day 8,000 8,000
Honorarium to

Administrator 6,000 6,000
Supervision charges (one

Supervisor for every

100 candidates @

Rs. 50 per day) 4,000 6,000
General Administrative

Overhead 6,000 6,000

Total Cost 84,000 1,16,000

Net Revenue 16,000 34,000

You are required to compute :

(i) The budgeted net revenue if 4,000
candidates take up the entrance test in
2009-10.
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WA qder ¥ wrw Ag wr fmwr

2007-08 2008-09
q. .
UHiAd el AT 1,00,000 1,50,000
oarTd
Teuis 40,000 60,000
g9 gRaerd 20,000 30,000
g T & 2000
gid o7 #t s | 8,000 8,000
guTE® H AT 6,000 6,000
qgaeor gy (9 100
@%. 50ufT =) 4,000 6,000
HHETY g1 IURIHTT 6,000 6,000
FA AT 84,000 1,16,000
Frae smg 16,000 34,000

g Freafafeaa =1 osRweas s 28—
(i) 3’ 2009-10 F 4,000 I=figaw yaor gde

¥ A3, @ sufea Frae ama
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(b)

(a)

(i) The break-even number of candidates.

(iii) The number of candidates to be enrolled if
the net revenue of Rs. 20,000 is desired.

5+15+10

A certain chemical process yields 75% of
material introduced as main product and 20%
as by-product, 5% being lost. In the process
one unit of main product requires double the
materials required for a unit of by-product.
Further one unit of main product needs 1% times
the time needed for one unit of by-product.
Overheads are absorbed in the ratio 3 : 1.
During a month 4,000 units of raw materials
at a cost of Rs. 68,000 were introduced.
Wages and overheads incurred were
Rs. 21,200 and Rs. 10,800 respectively and
wastage realised Rs. 1,200. Ascertain the

cost of both the products and prepare Process
Account. 30

Mrs. Ganga received the following amounts during
the financial year 2008-09 :—

| Rs.
Gross Salary 6,00,000

Family pension @ Rs. 1,500 p.m. 18,000




(i) S=fead N wgaT-wx (@F 3a7) e
(i) aR & 20,000 F Faw 3w Fifea & @
T e 91 9 I=ficard @ gl |

5+15+10

@) = Aoy varfE g @l § 75% F g

IUE B ®Y A, AT 20% H II-IUR D T H
IT-T HLT 8| 5% TS Bl 9T 2| WHFH H g&
IR F TH PR 3 [OY, IT-IAR Dl TH TR
& R smawws @ g gerd A IrawgeEar Bl
2| WD IO g IR N TH ITFE B (A,
I9-IUIE B TH THIR B [AC J@AWE GHG FI
1% 3 |5 & AE¥HaT eidl 8 | IuReay 3 : 1
& FI A FEUIRE & 9§ | T " $ QE,
% 68,000 @ 9T F=A "I W 4,000 FHIA
aeafase A 1 @1 wegRal SR IuREm w
HHE: X 21,200 X & 10,800 & gY M
sofdme ) Bt & & 1,200 91 8Q | AT IR
F ANE F OARH DR A THEA AW AR
Hifeng | 30

et i 3 B 3 2008-09 3 Qv Fr=fofaa
TR/ gt #f - —

.
gHhd da- 6,00,000
qREaR 999 @ & 1,500 9.9 18,000
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(b)

Rs.

Income of a minor child 6,000

Accumulated balance in provident
fund of her husband after his .
death 1,00,000

Gratuity received after the death of
her husband 80,000

Calculate taxable income and tax liability
of Mrs. Ganga for the assessment year 2009-10.

30

R Ltd. is considering a new automatic blender.
The new blender would last for 10 years and
would be depreciated to zero over the 10 year
period. The old blender would also last for 10 more

~ ‘years and would be depreciatéd to zero over
he same 10 'yéar period. The old bleder has a

book yalue of Rs: 10,000 but could be sold for
Rs. 15,000 (the original cost was Rs. 20,000). The
new blender would cost Rs. 50,000. It would
reduce labour expense by Rs. 8,000 a year. The
company is subject to a 50% tax rate on regular
income and a 30% tax rate on capital gains. Their
cost of capital is 8%. There is no investment tax
credit in effect.

(1) Identify all the relevant cash flows for this
replacement decision.

(ii) Compute the present value, net present value
and profitability index.

(i11) Is this an attractive project ? 30
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%
HIEH T=d P AW 6,000
gfd # Yog  geE IEd!

afasy Ffy & ofeg 9w 1,00,000
gfd @ gog ® 918 9T
’ 3I9qr T 80,000

Frafror adf 2009-10 # g sfiwd T B
FUNY I M FL-2gar 7 IREHaT IR 30

@) IR s & Fu mafta =T 97 fAar #1
W 8| T &AST 10 9 dF 9o N 10 /1A
Hafer 9T 9 9 Jeaeiaa 8 S | AT sAsT
wfrlomashaﬁmam:ﬂﬁloﬁaﬁmq:{-

| "_...ilmmgcﬁﬂnanm
*rgr'aa 10000% vigmﬁw 15,0003 =1 s
THeT & (IR q @ . 20,000 ) | 7 s¥sT
I AT T 50,000 EVfY | IR AW av@ F wfy
el & 8,000 # HHT Iwft | F9 gz FPrafg 3w
T 50% FT TT AT gofme @ 9T 30% FT I
e 8 1 goft A S 8% 21 A Prwr s-gwe
SIUEE I
() 3§ g Fvln @ e ot 99 s

YatEl & 9gEr g |

(i) == geu, Faa adam gou st aveifan
YaBih T qRFAT BT |

(iii) FT T8 TF oo gRAre=T 8 7 30
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SECTION—B

Comment on any THREE of the following in not more
(20x3=60)

(a) Requirements of Accounting Standard-II for

than 200 words each :(—

Foreign Exchange Transactions.

(b) Diluted Earning per share.
(c) Cost-Volume-Profit Analysis.

20
20
20

(d) Activity Based Costing and its salient features.

20

(a) Below are given some figures relating to

three companies carrying on the same type of
bﬁsiness, for the year 2008-09. State which
company, in your opinion, has put in the best
performance and has followed the best financial

policies :
A
Ltd.
Net Block to Net Worth 1-70
Current Ratio 0-94
Liquid Ratio 0-75
Gross Profit Ratio (in %) 20

12

B
Ltd.

0-83

1-:32

0-68
15

C
Ltd.

0-90

1-03

0-22
12
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Preafafee ¥ @ &= & ox wfirn Fitg, s 9@+
200 ¥ SO Tsal A A8l BiAl AMBY :— (20%x3=60)
@) faReft ger a=aT & fg dEmor "S- F

ATEIIHAT | 20
(@) i TR TP 6 | 20
(M) FNTE-9RAT-HATEHT g 20
() FrfEwem smafa ana-fFrafor sk 3as gecagel

AT | 20

F) = T wuHE, S o @ yER F FER H
it €, & weaftm asf 2008-09 # g w© Jws

2 Re e & | sarg &F Imd gagat e s
} gad afeyr sE-FroaeT g 2 it a8 3=

facfra ARl & e B ®
£ kG m
fafzes fafies fafes

Fraa "@afir @

Fraa = 1-70 083 090
qre], HAAT 094 132 103
GEGCIEEERICE 075 068 022

THA JATH F9E (% H) 20 15 12
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p A

Ltd. Ltd. Ltd.
Capital Turmover Ratio 1-50 2:50 3-50

Dividend Pay-out Ratio
(in %) 40 25 50
Net Profit Rate (in %) 8 6 3

30

(b) What are divisible profits ? Explain various
provisions of Companies Act regarding
distribution of dividends. What is duty of an auditor
in this regard ? 30

(a) The standard mix for each batch of 100 units of
~ product Ais : |
Material A 6 kgs. @ Rs. 15
Material B 4 kgs. @ Rs. 10

During a month 10 batches were completed with
actual consumption as follows :

Material A 63 kgs. @ Rs. 14
Material B 39 kgs. @ Rs. 11

Actual output during the month was 960 units.
Calculate Material Cost Variances for detailed

analysis and control. 30
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(#)

ED = s
fafizes fafires fafires

goft srad saTa 1-50 250 350
ATHIE Y-HIT I

(% ¥) 40 25 50

fFraea gamR 3T (% #) 8 6 3

30

sy g 1 g & ? arien & faer &

g9y ¥ st IffHom & [{Afrs suegy +1 e
FINT | 39 g9y # J@UHES D T FdA & 7
30

7. ﬁ)}mmaﬁlwm%m&%mm_ <

ﬁwﬁﬂf‘c‘fmi I M
gt & 6@3 @'E 15 !
gt = 4kgs. @%. 10

T HEH B QA 10 ¥/ R By g FE araEs
guag Feafafaa o -

waift 63 kgs. @ ©. 14
geit @ 39 kgs. @ T 11

I AEH aRata® IcueT 960 THIE & W@ | Rwga
faecroor sfx Feae @ e aenft aora gael @
TRee ST | 30
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(b) Sandeep submits the following information for the

assessment year 2009-10 :

Income from Business Rs. 20,000
Property Income House A House B
Rs)  (Rs) '
} Municipal Valuation 17,500 40,000
‘ Municipal taxes paid
| by tenant 1,500 2,000
‘ Land Revenue paid 1,000 8,000
‘ Rent Received 19,000 34,000
] Insurance premium paid 250 1,000
l Repairs paid by tenant 250 9,000

Interest on borrowed

capital for payment of
Municipal tax of house

property 100 200
Nature of occupation Let out Let out
for Resi- for Busi-
dence ness
Date of completion of
construction 1-4-1993 1-4-1991

Determine the taxable income of Sandeep for
the assessment year 2009-10. 30
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(@) 3 Frafor ad 2009-10 % g Fe=fofaa smerd

J&d Il g :
FRER § IT & 20,000 \
wafr s "l ® o o ‘
(=) (=.) y
TGS JediFA 17,500 40,000 \
fFaw g 3@ \
MY ANIGIAHT FY 1,500 2,000 \
a1 B T 1,000 8,000
g o 19,000 34,000 !
s e S it 250 1,000 '
FUGR g FEA _
s JoEd L, 250 9,000 .
e |y B AT ‘
FT 1 I@Eh B forg ‘
IUR gl 9T SO 100 200
Fed P gHha Rezer 3 Q& B

fog Fog  foo &g
gy & g R

Frafor gqo # arfiE 1-4-1993  1-4-1991

39 1 Fgfor ast 2009-10 # o @
I &1 Fatoog $ifeo 30
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8.

(a) Write a note on Money Market and Capital Market
in India. 30

(b) (1) Explain how VAT is an improvement over the
old sales tax structure.

(i1) What do you mean by ‘taxable services’ in
the context of service tax ? How is the value
of taxable services determined ? 15+15=30

18




8. (F) Wi ¥ T X (A AP e) T goit I W
s feooft frfea 30

@) (i) w=FRe & guet @ s g3 W QT
fFg g & TF g 2|
" (i) ¥a1 $T P Hed ¥ FWrg 9@’ T IM
| T Id e & ? Qg IR P g
¢ #1 fFg gy Frato o smar 8 7
15+15=30

19




Serial No-. [

- | [c-DTN-3-DBA]-

Fifvea I dETarer

qT1-93—1

[W:fﬂ?ﬂﬂi‘]

g - 300]

FIa
ye 999 el 3R AN q9 A B 2
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fa=gt &7 goat & 3IT7 gy
g} rava® 8 al I9gEd JAids] P TG P
agr I fAfdse FaT |
gt geat F 3IH EIT B

Note : English version of the Instructions is printed on the

front cover of this question paper.
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